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3) Ifa0.05 M solution of a weak acid produces apH of 5 9, What is Ka for this weak
id? e
HA = R0t a [RA)
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7) Calculate the rgolar solubility of barium fluoride (BaF,) in water. ToF (QL 00? +2F (OAB
Keo=16x10".

)}mﬂé Calculate the molar solubility of this compound in an aqueous solution A ol \ - oo 3

that is 0.2 M NaF (sodium fluoride). NS
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10)  What is the pH of the following solutions?
a) 0.25 M HNO; s’«ov& b) 0.17 M Ba(OH), $trong bans
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16) What is the concentration of Ca** ion remaining after CaCOs precipitates when
50.0 ml of 0.10 M CaClz is added to 50.0 ml of 0.10 M Na,CO3? K, for

CaCO;is 3.8 x 10, ot on eyoum 2
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What is the pH of a 0.15 M solution of NH3? Kb = 1.78 x 10”
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